Algebra 2

Day Date Video Assignment Due Is it done?
11|Monday 3/30/2020 practice quiz, 9.1-4
12| Tuesday 3/31/2020 take quiz
13{Wednesday [4/1/2020 |9.5 none
14| Thursday 4/2/2020 (9.6 403
15| Friday 4/3/2020 (9.7 406
16| Monday 4/4/2020 409
17| Tuesday 4/5/2020 practice quiz, 9.5-7
18|Wednesday |4/6/2020 take quiz

Tuesday 4/14/2020 none

How many total did you do:




Name

Quiz, Algebra 2, 9.1-4
Is the figure symmetric to the given line and to the given point? Answer yes or no. (3)

L

Test for symmetry to the x-axis and the y-axis. Answer yes or no. (3)

4. 3x+4y’=6
5 2x3+5v3=7
6. Ix=4y>

Test for symmetry with respect to the origin. Answer yes or no. (2)

7. 3x+4y*=6

8. dx =Sy

Determine whether each function is even, odd, or neither. (4)
9. f(x)=x"

10. f(x)=x>+x

I fx)=x"+x*

12, f(x)=3




Tell how the graph of f(x) would be transformed, (10)
13. -2+f(x)

4. f(x+2)

15. 3f(x)

16. f(4x)

17. 5+31f(x)

18. -2 f(x)

19. f(-4%)

20, 4 +f{x-3)

2k 5-21f¢x)

22. 5f(x+1)

Graph on graph paper. (8)
23. y=3+|4

4, y=|x-2|

25. y=—4+—|x|

26, y=-x

27. y=3x%

8. y=1+(x+4)’
1

29. f(-z-x)

30. ~2£(x)
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Name Practice, Algebra 2, 9.5-7

Find the vertex, line of symmetry, and the max or min. (10)

L f(x)=(x+8)* +4

2. f(x)=2(x-2)" -4

3. f(x)=-8(x-1)2-2

4 f()=—~(x-3) +4

5. f(x)=5x+7)* -1

6. f(x)=-2(x+3)* -6

7. f(x)=-4(x-T) +5

8. f(x)=(x+2)*+3

9. f(x)=—(x+5)* -7

0. f(x)=(x-3)*+4

Complete the square to get an equation in the form f () =a (x-h) 2+ k. (5)

i f(x)=x*+6x+5

12, f(x)=x>+5x-2

3. f(x)=-x*—4x+2




14. f(x)=-2x*—-6x+5

15. f(x)=-3x> +12x+3

Find the x-intercepts. (5)

16. f(x)=x*+7x+12

17. f(x)=x +x+1

18. f(x)=x*-5x-6

19. f(x)=2x*+5x+4

2. f(x)=3x* +12x-3




Name Quiz, Algebra 2, 9.5-7

Find the vertex, line of symmetry, and the max or min. (10)

L f(x)=(x+3)+2

2. f(x)=5x-6)" -7

3. f(x)=-3(x-4)" -5

4 f()=-(x-1)" +2

5 f(x)=5x+4)" -3

6. f(x)=—4(x+3)? -2

7. f(x)= -5(x-6)* +7

8 f(x)=(x+2)*+3

9. f(x)=-(x+2)" -3

10. f(x)=(x-3)"+4

Complete the square to get an equation in the form f (x) =a (x-h) * + k. (5)

11. f(x)=x*+4x+5

12. f(x)=x>+3x-2

13. f(x)=-x*-8x+2




14, f(x)=-2x*>-8x+5

15. f(x)=-3x*+9x+3

Find the z-intercepts. (5)

16. f(x)=x>+2x+6

17. f(x)=x* +2x+1

18. f(x)=x*-x-6

19. f(x)=2x" +5x+2

20. f(x)=3x? +5x-3




Name Practice Test, Algebra 2, Chapter 9

Is the figure symmetric to the given line and to the given point? Answer yes or no. (3)

1
l
[
3
O
O
|
3,

Test for symmetry to the x-axis and the y-axis. Answer yes or no. (3)

4. 3x+4y’=6

5 2x*+5y=7

6. 3x=4y

Test for symmetry with respect to the origin. Answer yes or no. (2)

7. Ix+dy=6

8. d4x =5y




Determine whether each function is even, odd, or neither. (4)
9, f(x)=x"

10. fix)=x*+x

11. f(x)=x%+ x?

12. f(x)=0

Tell how the graph of f(x) would be transformed. (10)
13, 3+f(x)

14. f(x+4)

15. 6 f(x)

16. £(2x)

17. -5+3f(x)

18. -2 f(x)

19. f(4x)

20, -2+f(x-4)

21 3+31f (%)

22, S5f(x-2)




Graph on graph paper. (8)
23 y=—4+ |x[

24. y=|x-9

2. y=2+l|x|
3

26. y=—x

27. y = 3x?

28 y=—4+(x-8)?

29 f(—l—x)

)

30. £(-2x)



Find the vertex, line of symmetry, and the max or min. (10)

3. f(x)=(x+4)" +3

32. f(x)=6(x—7)* -8

33, f(x)=-5(x-4)" -3

M. f(X)=—(x-1)%+2

35 f(x)=2(x+4)* -6

36. f(x)=-(x+3)! -5

37. f(x)=-9(x-T)! +5

38 f(x)=8(x+4)Y +2

39. f(x)=~(x+4)*-9

0. f(x)=(x-1)7+1

Complete the squareto get an equation in the form f (x) = a (x-h) 2 + k. (5)

41. f(x)=x*+3x+5

2 f(x)=x*+6x-2

43 f(x)=-x*-12x+22

M. f(x)=-2x*—10x+5




45. f(x)=-3x*+6x+2

Find the x-intercepts. (5)

46. f(x)=x>-6x+9

47, f(x)=x* +3x+4

48 f(x)=x*-2x-8

49. f(x)=2x* +5x+4

50. f(x)=3x*+4x-3
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